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1. Answer any five of the following questions :

(@)

(b)

(©)

(d)

(e)

()

What is personal disposable income?
What do you mean by open economy?
What is liquidity trap?

Define the crowding-out effect.

Define the concept of stagflation.

What is money supply?

2x5=10
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(2 )

(g) State two reasons behind upward shift of the aggregate demand curve.

(h) What is Phillips curve?

2. Answer any four of the following questions : 5x4=20
(a) Explain Paradox of thrift.

(b) What is investment multiplier? How can the investment multiplier be derived
through savings-investment equality?

(c) Write a short note on Acceleration Principle.
(d) Discuss Fisher’s cash Transaction version of Quantity theory of Money.
(e) Explain the two way relationship between capital inflow and exchange rate.

(f) Distinguish between demand pull inflation and cost push inflation.

3. Answer any three of the following questions : 10x3=30

(a) Explain how national income is determined by value added method? Distinguish
between GNP and GDP. 6+4

(b) How is equilibrium national income determined in simple Keynesian model? 10

(c) What are IS and LM curve? Using IS-LM model analyse the impact of change in
money supply on the equilibrium level of national income and rate of interest.

4+6
(d) What is meant by trade off between rate of inflation and unemployment? Explain
the Keynesian explanation of this trade-off. 5+5
(e) Explain Cambridge version of quantity theory of money. 10
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